0.10x0.04
(0.05% 0.06) + (0.10x 0.04) + (0.250.02) +(0.20 % 0.015) +(0.30x0.025) + (0.10x 0.04)

1. Pr(over 60|acc.)=

_ 0.004
0.0265
_8
53
2. Pr(type 1/fail)= 0.30:=0.0002
(0.3 0.0002)4+(0.25x 0.0004) 4+ (0.2 0.0005) +(0.1x 0.001)+ (0.05x0.002) - (0.10.004)
3
43
030=04 _9_1_2_3

3. Pr{'sﬂphommep;‘l: = =
- /(010 0.2)+ (030% 04)+ (040 0.3)+(020x0.1) 028 7

040 005 5

4. Pr(precinct 3[larceny) = =
(0.20x 0.01)+(0.10x 0.02) +(0.40x0.05) + (030 0.04) 9

5. Pr{'fj $?5,{}CID| 2 or more cars | = 005x09
- 7 (0.10% 0.2)+(0.20 % 0.5)+(0.35x 0.6) + (0.30x0.75) + (0.05x 0.9)
0,045
T 06
_ 3
40
= 0.075
6. Pr(reg. Indep./turned out) = 0.30x0.7 = ’
(0.50x 0.4) +(0.20x0.5)+(030x0.7) 17
7. Pr {passed exam| A} = 0.80>040
' Y 0.80x0404+020x0.20
032
036
_8
9

8. a. (0.07 % 0.51)+(0.20 X 0.51) + (0.33 X 0.50) + (0.27 x 0.48) + (0.13 x 0.44) = 0.4895

b. Pr(5 to 19|male) = 2222031 2084

0.4895



Pr{Male) =< Pr { {Z]_i_ntou| L-Iale]
Pr{Male) = Pr{_ C].i.ntou|]'s{ale] + Pr(Female) x Pr{ {Z]jntoul Female]

¥
0.43%0.57 02451 43 3e0s

 (043x0.57)+(0.57x0.70) 0.2451+0399 113

17. Pr(Male|Clinton )=

= $50.000) x Pr(Repub] = $50.000)
18. Pr(=$50.000[Repub.) = Pr( ) _ (Repub| )
Pr(= $50.000) x Pr(Repub] = $50.000) + Pr(< $50.000) x Pr(Repub | < $50.000)
0.64%0.55 0.352

 (0.64x0.55)+(036x043) 0.352+0.1548

Fz 0.6946

) 13 1
19. a. one 15) = — = —
Pr( ) 52 4

random one isn't |

s

b. Pr(noue 15

Pri{none 1s) x {randﬂm one is.u‘t| none i*;]

B Pr(none 1s)x P‘r{mndcm one isu‘t| none 1s | + Pr{one 1s)x Pr{ random one isn‘t| one is}

3
2wl
4 1 0765

BB

c. Pr{one 15|10 randoms aren’t)

Pr{one 15) % Pr {_1[] randoms aren‘t| one i';]

B Pr{one 1s) % Pr {ID randoms aren'tl one is} + Pr(none 1s) % Pr {_1[] randoms :u'e;u‘t| none 1'5;]

\10
ix(B)

# of section I math majors

20. Pr(section Ijmath major) = # of math majors

21. a. Pr (queside| wi_tmer}
Pr(Lakeside) =« Pr Iiwinne:r| Lakeside}
~ Pr(Lakeside) x Pr{:wi.tmer| Lakeside} + Pr(Pyleswille) <« Pr (wi.tmer| Pylesville )

+Pr(Millerville) x Pr winner| Millerville
_ 0.40x0.05 _5
(0.40% 0.05)+(0.20x0.02)+ (0.40%x0.03) 9




0.20x0.02
(0.40 % 0.05)x (0.20 % 0.02) + (0.40 x0.03)

=lmll%
9

Pr{ Apex) = Pr (dff.| ﬂ;.pex]

22, Pr(Apex|def) = . . - .
Pr(Apex) x Prdef| Apex | + Pr(B-ink) x Pr(def| B-ink

_ 0.70= 0.10
(0.70:x 0.10) +(0.30<0.05)
_ 14
17
= 0.824
23.
5People 15 People 20People 10 People
1stYear Sophmore Junior Senior
1 Person 4 People & People 9 People 6 People 14 People 1Person 9 People
Received A Notan A Received A Notan A Recefved A Notan A Received A Notan A
il il 3
Pr(Sophmore |[A)=————=—=—
1+64+6+1 14 7
24,
l 100 People
1

20 People
Republican

S50 People

Demaocrats

30Peaple

Independent

20People 30 People 10 People 10 People 21 People 9 People
Voted NoVote Voted NoVote Voted NoVote

7
Pr(Independent | Voted) = m - % _ %



